
SkillsUSA
2012 Contest Projects

Click the “Print this Section” button above to automatically print the specifications for 
this contest. Make sure your printer is turned on before pressing the button.

Carpentry



QTY DESCRIPTION

14 2"x4"x8' FRAMING

3 2"x4"x10' SAW HORSES*

7 5/4"x6"x8' DECKING

1 2"x6"x12' JOIST

1 2"x6"x10' JOIST

1 4"x4"x5' POST

1 4"x4"x12' POST

1 2"x12"x10' STAIR STRINGER

1 1"x4"x6' EXT. WINDOW CASING

1 1"x4-1/2"x8' WINDOW JAMB

1 2"x4"x30" W/15 DEGREE BEVEL EXT. SILL

METAL FRAMING MATERIALS

QTY DESCRIPTION

1 BOTTOM TRACK

1

2

1

1

2

2

1

1

MATERIAL

362PDT125-19 (50ksi)

LENGTH

3'-8"

TOP TRACK 362PDT125-19 (50ksi) 3'-8"

FULL-LENGTH STUD 362PDS125-19 (65ksi) 5'-8 7/8"

BOTTOM CRIPPLE STUD 3'-0 7/8"

TOP CRIPPLE STUD 0'-10 7/8"

6" CRIPPLE STUD

362JS300-33 (33ksi)

0'-6"

KING STUD

362PDT125-19 (50ksi)

5'-8 7/8"

HEAD TRACK (OPENING)

SILL TRACK (OPENING)

350HS300-33 (33ksi)

---

1'-5 3/4"

1'-5 3/4"

* Saw Horses Require Additional Piece Cut From Wall Framing

362PDS125-19 (65ksi)

362PDS125-19 (65ksi)

362PDT125-19 (50ksi)

362PDS125-19 (65ksi)

DROP 'N LOCK CLIP
362-33

1'-5 1/2"1

2 DROP 'N LOCK CLIP

HEADER

WOOD FRAMING MATERIALS

1 1"x2-3/4"x30" W/15 DEGREE BEVEL WINDOW SILL

1 3-1/2"x1/2"x48" FILLER STRIP

1 3/8"x4'x8' SIDING

1 1/2"x4'x4' INT. WALL BOARD

1 2-1/4"x11/16"x8' INT. WINDOW CASING

48th Annual SkillsUSA
2012 Carpentry Championships



4' x 8' PRE-CONSTRUCTED
PLATFORM

4x4 CORNER POSTS*
NOTCH-OUT FOR JOIST /
JOIST HEADERS
(SEE DETAIL 5 ON
SHEET 2)

2x4 STUD W/ BLOCKING

T
O

C
E
N

T
E
R

O
F

W
IN

D
O

W

4x4 NEWELL POST
(SEE DETAIL 6 ON
SHEET 2)

0
'
-
0

3
/8

"
0

'
-
3

5
/8

"

3
'
-
8

3
/8

"
1

'
-
1

0
"

2
'
-
1

5
/8

"

STEEL STUDS

2x4 NAILER

2x12 STAIR STRINGERS

0
'
-
1

7
/8

"
1

'
-
1

0
1

/2
"

1
'
-
1

0
1

/2
"

4
'
-
1

1
/8

"

2x6 JOIST HEADERS WITH
MITERED CORNERS WHERE
SHOWN ABOVE
(SEE DETAIL 5 ON SHEET 2)

2x6 FLOOR JOIST
ABOVE

* ALL 4x4 NEWELL & CORNER POSTS ON STEEL POST BASE SCREWED TO PLATFORM - SEE DETAIL 1 ON SHEET 2

RIGHT

8
'
-
0

"

HOLD TRACK 3/8" IN FROM
EDGE OF PLATFORM

4' - 0"

LEFT

FRONT REAR

STEEL FRAMED WALL
BOTTOM TRACK

HOLD PLATE 1/2" IN FROM
EDGE OF PLATFORM

PRE-CONSTRUCTED
PLATFORM

2x4 STUD

P.T. WINDOW SILL
15 DEGREE SLOPE

2x12 STAIR STRINGER

2x4 BOTTOM PLATE

2x4 DOUBLE TOP PLATE

POST ANCHOR
(SEE DETAIL 1 ON SHEET 2)

1
'
-
9

"

3
'
-
6

"

3
'
-
6

"
2

'
-
3

"

W
N

D
W

C
N

T
R

1
'
-
1

0
"

CL

2x4 TOP RAIL

2x4 MID RAIL

2x4 NAILER

4x4 NEWELL POST
(SEE DETAIL 6 ON

SHEET 2)

4x4 CORNER POST
NOTCHED

(SEE DETAIL 5 ON SHEET 2)

BEVELED P.T. 2x4

1x4 P.T. WINDOW TRIM

2x12 STRINGER
BEHIND

2X6 JOIST HEADER

5/4 x 6" TREAD MATERIAL

5/4 x 6" DECKING MATERIAL

2x4 RAILING

PRE-CONSTRUCTED
PLATFORM

STEEL STUD FRAMED
WALL (SEE DETAIL 9
ON SHEET 1)

STAIR TREADS BEYOND

STAIR STRINGER BEYOND

5
'
-
9

"

4x4 POST BEHIND

PRE-CONSTRUCTED
PLATFORM

2x4 STUD

P.T. WINDOW SILL
15 DEGREE SLOPE

2x12 STAIR STRINGER
BEYOND

2x4 BOTTOM PLATE

2x4 DOUBLE TOP PLATE

POST ANCHOR
(SEE DETAIL 1 ON SHEET 2)

1
'
-
9

"

3
'
-
6

"

3
'
-
6

"

W
N

D
W

C
N

T
R

1
'
-
1

0
"

CL

2x4 TOP RAIL

2x4 MID RAIL

2x4 NAILER BEYOND

4x4 CORNER POST
NOTCHED
(SEE DETAIL 5 ON
SHEET 2)

BEVELED P.T. 2x4

1x4 P.T. WINDOW TRIM

2x12 STAIR STRINGER
BEYOND

STAIR TREADS
BEYOND

5/4 x 6" DECKING MATERIAL
NOTCH-OUT FOR 4x4 POSTS

8
SHT.1

2x6 JOIST HEADER W/ MITERED
CORNER WHERE SHOWN
(SEE DETAIL 5 ON SHEET 2)

7
SHT.1

3/8" SMARTSIDE SIDING

PRE-CONSTRUCTED
PLATFORM

2x4 NAILER

CORNER POST ANCHOR
BUCKET

2x6 FLOOR JOIST W/ MITERED
CORNERS @ FRONT ELEVATION

(SEE DETAIL 5 ON SHEET 2)

2x4 STUDS BEYOND

2x4 TOP RAIL

INTERIOR WINDOW CASING
MITERED AT CORNERS

2x4 BOTTOM PLATE
@ WALL BEYOND

4x4 NEWELL POST
(SEE DETAIL 6 ON SHEET 2)

2x4 RAILING
(SEE DETAIL 6 ON SHEET 2)

STEEL FRAMED WALL

4x4 CORNER POST

2x4 MID RAIL

5/4 x 6" TREAD MATERIAL
NOTCH-OUT FOR 4x4 POSTS

4x4 CORNER POST
NOTCH-OUT FOR
JOIST HEADERS

CORNER POST ANCHOR BUCKET
(SEE DETAIL 1 ON SHEET 2)

1
'
-
9

"
1

'
-
9

"
2

'
-
3

"

2x12 STAIR STRINGER

1
'
-
5

1
/2

"

2' - 0 1/2"

5
'
-
9

"

4
'
-
8

"

5/4 x 6" DECKING MATERIAL

0' - 0 3/8"

0' - 3 5/8"

3' - 8 3/8" 1' - 10" 2' - 1 5/8"

0' - 0 3/8" 6' - 9" 1' - 2 5/8"

PRE-CONSTRUCTED
PLATFORM

2x4 NAILER

2x12 STAIR STRINGER

2x6 FLOOR JOIST

2x4 WINDOW HEADER ASSEMBLY

2x4 DOUBLE TOP PLATE

2x4 WINDOW SILL

2x4 BOTTOM PLATE

CRIPPLE STUD

CRIPPLE STUD

TRIMMER STUD

KING STUD

4x4 NEWELL POST
BEYOND

2x4 RAILING BEYOND

4x4 CORNER POST
BEYOND

4x4 CORNER POST
BEYOND

2x4 MID RAIL BEYOND

5/4 x 6" TREAD MATERIAL
NOTCH-OUT FOR 4x4 POSTS

1
'
-
1

"
1

'
-
2

"
3

'
-
6

"

R.O. 21"

2' - 0" 2' - 0"

CL

5/4 x 6" DECKING MATERIAL

5
'
-
9

"

6' - 9" 0' - 0 3/8"

BOTTOM TRACK WITH (1)
SCREW PER STUD FLANGE

(SEE DETAIL 12 ON SHEET 1)

TOP CRIPPLE STUD

PRE-CONSTRUCTED
PLATFORM

5
'
-
9

"

4
'
-
7

"
1

'
-
2

"

6" CRIPPLE STUD

FULL LENGTH STUD

1' - 10"1' - 10"

3' - 8"

0' - 0"1' - 1"1' - 6"1' - 1"0' - 4"

TOP TRACK WITH (1)
SCREW PER STUD FLANGE

HEADER

BOTTOM CRIPPLE STUD

HEAD TRACK WITH
(1) SCREW PER
STUD FLANGE

FULL LENGTH STUD

SILL TRACK WITH (1)
SCREW PER STUD
FLANGE

KING STUD

KING STUD.
SEE ELEVATIONS FOR

QUANTITY & MEMBER SIZE

SILL TRACK.
SEE ELEVATION FOR
MEMBER SIZES

(1) #8-18 SCREW PER
FLANGE

ATTACH CRIPPLE STUD TO
KING STUD WITH (4) #8-18
SCREWS

6" CRIPPLE STUD

SECTION A-A SECTION B-B

AA AA

B

B

C

C

SECTION C-C

10
SHT.1

11
SHT.1

1/2" DRYWALL

5/4 x 6" DECKING MATERIAL

2x6 JOIST BEYOND

2x6 JOIST HEADER

3/8" SMARTSIDE SIDING

2x4 STUD

3/8" SMARTSIDE
SIDING

1/2" DRYWALL

INTERIOR WINDOW CASING

BEVELED P.T. 2x4

P.T. WINDOW SILL
15 DEGREE SLOPE

1x4 P.T. WINDOW TRIM

2x4 STUD

METAL CRIPPLE STUD

ATTACH EACH TRACK
TO STUD USING:
(2) #8-18 SCREWS
@ 16" O.C.

ATTACH DROP'N LOCK CLIP TO
JAMB W/ (4) #8-18 SCREWS.

(SLOTTED HOLES FOR
ADJUSTMENT ONLY)

ATTACH DROP'N LOCK CLIP USE:
(2) #8-18 SCREWS IN EACH LEG,

(2) SCREWS TO THE UNDER
SIDE OF THE HEADER.

(1) #8-18 SCREW TYP.
EACH FLANGE

KING STUD.
SEE ELEVATION FOR MEMBER

SIZE & QUANTITY.

HEADER WITH HEAD TRACK.
SEE ELEVATION FOR

MEMBER SIZES.

NOTE:
ORDER ALL REDHEADER RO HEADERS
1/2" LESS THAN ROUGH OPENING
WIDTH TO ACCOUNT FOR THE RIDGE
IN THE DROP'N LOCK CLIPS

PLYWOOD BASE

METAL BOTTOM TRACK

4
8

t
h

A
n
n
u
a
l

S
k
il

l
s
U

S
A

SHEET

DRAWN BY

SCALE

DATE

06-26-2012

OF SHEETS2

VARIES

2
0

1
2

C
a
r
p
e
n
t
r
y

C
h
a
m
p
io

n
s
h
ip

s

1
MMM

FRONT FRAMING ELEVATION REAR FRAMING ELEVATION

METAL WALL FRAMING ELEVATION METAL WALL JAMB CONNECTION

RIGHT ELEVATION W/O MTL. WALL

FLOOR PLAN

LEFT ELEVATION W/O MTL. WALL
LEFT ELEVATION W/
METAL WALL4 5 6

109

1 2 31/2" = 1'-0" 1/2" = 1'-0"

1/2" = 1'-0"

1/2" = 1'-0" 1/2" = 1'-0" 1/2" = 1'-0"

1/2" = 1'-0" N.T.S.

METAL SILL TRACK CONNECTION11

N.T.S.

METAL WALL JAMB ANCHORAGE12

3" = 1'-0"

DRYWALL TERMINATION
DETAIL7 8WINDOW SILL

FRAMING DETAIL

3" = 1'-0"

N.T.S.



1/2" DRYWALL
(SEE DETAIL 8 ON SHEET 1)

SCREW PATTERN
8" MAX. ON EDGE
12" MAX. IN FIELD

3/8" SMARTSIDE
SIDING

NAIL PATTERN
8" MAX. ON EDGE
12" MAX. IN FIELD

SLOPED SILL

2x4 top rail

2x4 mid rail

4x4 corner posts
notch-out for joist header2x4 railing

(see detail 6
on sheet 2)

2x6 joist header with
mitered corner @

front elevation
(see detail 5 on sheet 2)

4x4 Newell post
(see detail 6
on sheet 2)

5/4 x 6" boards
notch-out for

4x4 posts

2x6 joist header with
mitered corner @ front
elevation

corner post
anchor bucket
(see detail 1
on sheet 2)

2x12 stringer

2x4 NAILER

2x12 STRINGER

2x4 STUD

2x6 FLOOR JOIST

2x4 WINDOW HEADER
ASSEMBLY

2x4 DOUBLE TOP PLATE

2x4 WINDOW SILL

2x4 BOTTOM PLATE

CRIPPLE STUD

CRIPPLE STUD

TRIMMER STUD

KING STUD

5/4 x 6" BOARDS
NOTCH-OUT FOR
4x4 POSTS

WINDOW SILL

2x4 TOP PLATE

PRE-CONSTRUCTED PLATFORM

3-5/8" TOP TRACK

2X4 MID RAIL

4X4 NEWELL POST
(SEE DETAIL 6

ON SHEET 2)

2X4 RAILING

2X4 TOP RAIL

RIGHT

LEFT

FRONT REAR

4x4 P.T. Post

PRE-CONSTRUCTED PLATFORM

Simpson strong-tie abe44
post base

2 EA. 8x1-5/8" SELF TAPPING
SCREWS TO ANCHOR
STRONG-TIE BUCKET
TO PLYWOOD PLATFORM

2 EA. 1" SCREWS
(EACH SIDE)

NOTCH FOR 2x4 NAILER

finished
second floor

RISE

2x6 FLOOR
JOIST

2
'
-
3

"

RUN
2' - 9"

0' - 0 5/8"

0' - 0 5/8"

TOTAL RISE = 27" (TREAD THICKNESS 5/4")
TOTAL RUN = 33" (OPEN RISER)

FINISH FLOORING = 5/4"

2" x 6" FLOOR JOIST (ACTUAL WIDTH 5-1/2")
5/8" NOSING AT TREADS

2X12
STRINGER

GAP=1/4"

PRE-CONSTRUCTED PLATFORM

4x4 NEWELL POST

2x4 RAILING

PRE-CONSTRUCTED PLATFORM

5/8" NOSING

27"

1
3

"
T
O

L
O

N
G

P
O

IN
T

15 DEGREE
BEVEL

BEVELED 2x4

P.T.1x4

1x2-3/4"

1x4-1/2" FLUSH
WITH FINISHED
WALL SURFACES

3/8" SMARTSIDE
SIDING

1/2" DRYWALL

1x4-1/2"
JAMB

21" R.O.

1
4

"
R

.O
.

WINDOW HEADER
ASSEMBLY

1/2" PLYWOOD FILLER

4
8

t
h

A
n
n
u
a
l

S
k
il

l
s
U

S
A

SHEET

DRAWN BY

SCALE

DATE

06-26-2012

OF SHEETS2

VARIES

2
0

1
2

C
a
r
p
e
n
t
r
y

C
h
a
m
p
io

n
s
h
ip

s

2
MMM

3D VIEW - REAR RIGHT 3D VIEW - REAR LEFT / WINDOW ASSEMBLY DETAIL

3D VIEW - FRONT LEFT 3D VIEW - FRONT RIGHT / NOTCH-OUT DETAIL

ANCHORAGE DETAIL TOP VIEWFRAMING DETAILS W/O MTL. WALL

STAIR STRINGER SECTION DETAIL

3/4" = 1'-0"

HAND RAIL & NEWELL POST DETAIL

987

1 2 3

4 6

i

i1"

1
"

1/2" = 1'-0"

3" = 1'-0"

IMAGINARY
LINE

TOP
OF

RAIL

DETAILED PLAN VIEW OF CORNER POST NOTCH-OUT

DETAILED ISOMETRIC OF CORNER POST NOTCH-OUT

2X6 FLOOR JOISTS WITH
MITERED CORNERS @
FRONT ELEVATION ONLY 2

'-1
0

"
F
R

O
M

E
D

G
E

O
F

N
O

S
IN

G

5


	SKILLS USA 2012 - Sheet - 0 - COVER
	SKILLS USA 2012 - Sheet - 1 - SHEET 1
	SKILLS USA 2012 - Sheet - 2 - SHEET 2

	Print: 


